g0 hgs ROl

m'ﬁﬂﬁﬁiﬁﬂ

AR 7

1510
g H
EHMBR | 268 | ERMTR |8 B
—
./

gaarpntsa TS E &H/798 0V

18

grxaxmmen AP YRR R4 (m) z /fe £ dp g
(HETHEEE A4 210xXx2973UA—=-FN)
$1 BHEIHTSRE
1 RS (2)
RE &L O sa—¥| 0 ||m - & =] /73
6w RN X0 1w e x| L —
£ Bk 1 KK AB 3 AGE ARBETEORK / &
% W3 A i w8 BE 6 AL
B BB () | X @ g
* 5 A E S IR BRREEYS-S-/9 Tof
2 WHWE (RERHEE) (A)
% @A
* é) A ( @ #HA2H 2 KRy 3 Tof ( )
TVAT ORI et -2
S 8RR E K| pote Xt
LR A ANDL IS AIIAINR A L AL 250
EFXEERENER| Toup 938 KERBPRRAHR 44 33%
' EEERCEEER
BEEXIER
THHFTCh Y
BEFREEEFES | T
£4£AH fﬁ H Bl o
B|% 1®® 3ma
A 2KE 4%R R 5 5 B
B | B 5 42 7R
A 2 A 8| ouh s REHER
x| B¥ TR0 @’an 1R 24 ’ oy ik B
2RE YW REEES |5 M- Tins¥ % 4tk
NEE LK.
Y k8,
EHLOMBE| L, N . _
EUEEEE | RRACAREH 2-48-0 GHXM RS BNEEE R 70 2 -2E P
(amas] p ($29  ) /oyy
3 REE® (M)
ECRZH |

wm—-sak (1)




B8k (2)

Zgﬁﬁg 18D E - ®# H 2/ 3
21 GRET 2 e
4 IEBEHMEORERRSOAR (F)
2T D 13F JHEHF X 2T&HOIM IHEM 15 |21&£ 0238 IHE 18
5 # 2,840, 000 ¥ 0% 0 #*
o2 HREE|A H & : O %
BBkl 2 HRES|B o * I 0 #*
& B o#H gt #|cC o % I 0 #®
R ER-2 Rk N RS X 0 %
S B8 B AE S0 KTV b | E 0 O |l 0
%o EOKEE B 0 0 0
B3 BEE WBESR | F O 0 M 0
A AR R AL | G 0 o N 0
a s 0 % | P 0% | Q 0 &
ARSI LOMBELEZE | R —
FEDRBRTARRSOX 0 %ngﬂa?‘% 9?}5 }z} a%a—:? UA&?&E’? o #
ﬁc:g(g?%?%—(ﬁﬁ)&) /2. 5%0 o000 LREBHE T J ' %
z : BASEANS T
(Aﬁ+cﬁD+§+FE+Hﬁ+?$K+?+MﬁU ' 0 (/AT X 100) #
HMOBESICRB ” %
ENEGEREREHD 8.7
5 UHKASORFEORETOARSCMTSRANAMORBXEAASORE (1)
® A B % % % o ®# M x B MBXELHOH | B fE
2003% 88 /98 | #h 2040.000 (¥ QBB 2 82 49p
X 1 BmfE 2 &5
X 1 RiE 2 49|
X 1 WB 2 4%
X 1 BE 2 4%
1 HfE 2 As
% 1 mE 2 Mg
¥ 1 REB 2 A
%1 W@ 2 np
¥ 1 BB 2 AR
X 1 W@ 2 @4 |
X 1 BB 2 48
¥ 1 BRE 2 AH
¥ 1 mE 2 4%
X 1 ®RB 2 as
X1 M@ 2 uH
¥ 1 BB 2 an
X 1 RiB 2 £
¥ 1 H# 2 ﬂﬁl

B-BHA (2)




-5t (3)

RELHLD ]
2#ta-r | /0en | E - ®# =H S
BlE (ARREE) O
E & X i & & | MASHASE
6 UBBHSIMTIERRHSBELRL (X)
1
A
T _REAKBBORBRS OV
() RBREDAR
BERSE (FF) |R 689.960 | [#remm (vm) |5
Eoh (RHKRIT)
| zomems (FF) |1
WA R & B
(R+S+T) (FA) 4689 P40
(1) #ALONK
% (7044) (7044 # Al®
&5 LW (ZIE2) ® A |[R=#K i i st H ®| (8
1 12
2 / 12 /
3 e 12 /
4 ®12 /
5 4 %12 /
S /
s /
6 + 12 /
pd /
7 / W12 /
P l;
/
8 / x12| 4
0
9 Z/// XIZ;
10 %12 |

BoBHX (3)




